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Name: _______________________










Block: _____

3 Factors that Affect Climate
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Climate: long term pattern of ___temperature______ and __precipitation________
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1. latitude

· = distance from the ___equator__
· rays are direct at the equator so it is __hotter_____
· rays more __indirect_____ closer to the poles so it is __cooler____
· tilt of the earth causes seasons for Northern and Southern hemisphere. There are __no___ seasons at the equator
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Distance from water

· The ocean has __greater_____ heat capacity than land so it helps to moderate the temperature – less __variation______
· Warm moist ocean air moves over coastal mountains and cools releasing ____precipitation_____
· The other side of the mountains = ____rain shadow___ (low precipitation)
3. Elevation

· Higher elevation = ___cooler_____ temperatures and __less______ precipitation
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Climatographs
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What does the line represent?

temperature

What do the bars represent?

precipitation
Describe the difference in climate between Chicago, Illinois and Moose Factory, Ontario.

Chicago is hotter in the summer and usually around zero in the winter, whereas Moose Factory is up to -20 below zero in the winter. There is more rain in Chicago than moose factory.

